Pedigree Worksheet 2
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1. Which members of the family above are affected with Huntington’s disease? ___________________

2. There are no carriers for Huntington’s disease, you either have it or you don’t.  Is Huntington’s disease caused by a dominant or recessive trait?______________________________________________

3. How many children did individual’s I-1 and I-2 have? ___________________________________

4. How many girls did II-1 and II-2 have? _____________ How man have Huntington’s disease? _______

5. How is individual III-2 and II-4 related? ____________ I-2 and III-5? _______________________
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1. The pedigree above shows the passing of Hitchhiker’s thumb in a family.  Is this trait dominant or recessive?__________________

2. How do you know?__________________________________________________

3. How are individual’s III-1 and III-2 related? ______________________________

4. Name 2 individuals that have hitchhiker’s thumb: __________________________

5. Name 2 individuals that are carriers of hitchhiker’s thumb:____________________

Problem 3:

Do a pedigree for the following:  

A. Joe marries Sue; they are carriers for the jumping disease.  They have 4 kids:  Jack, Zack, Luke, and Sara.  Zack and Sara have the jumping disease (recessive).  Jack marries Amy, she has the disease.  They have Lorie, who is also affected.  Sara marries Dan who is a carrier for the disease.  Sara is pregnant.

B. What are the chances of Sara and Dan having a baby with the jumping disease?



















































